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(3><3 )1
40+ Fa( )+Fb( )+( )
Fb
-10 0 10
(+1) (-1) (+1)
28,29,30,31,32 37,39 50
n=5 n=2 n=1
mean=30 mean=38 mean=50
(-1) (+1) (-1)

29 39,40,41,42,43 49
n=1 n=5 n=1
mean=29 mean=41 mean=49
(+1) (1) (+1)

33 40,42 51,52,53,54,55
n=1 n=2 n=5
mean=33 mean=41 mean=53

30.3 40.3 52.0

SE=1.5

34.5

40.4

47.5
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(3><3 ) 2
( )
SS  df MS F P
Fa 25.9 2 13.0 534  0.0189
Fb 1002.2 2 501.1 206.34 <0.0001
15.5 4 3.9 1.59  0.2306
340 14 2.4
Bonferroni (Dunn) t tests
95% 95%
5.93 3.74 8.12 kel
7.07 4.88 9.26 kel
31 -13.00 -15.12 -10.88 kel

Fb -



F P
Fa SSA dfa MSA Fa Pa
Fb SSB dfb MSB Fb Pb
SSAB dfab MSAB Fab Pab
SSE dfe MSE
1 2
(Y e 2o/ Ny ) V(1 ny. +1/ny. )
\/(MSE)
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FX, =[Py (VeI 7 {llpy (VE)IIP/(N-13)}
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mean=30 mean=38 mean=50
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x1
1/nl
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1/n1
1/n1

1/nl
-1/n2

-1/n2
-1/n2

-1/n2
-1/n2
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' 'Xl
Source SS df F P Source SS df MS F P
Fa SSA dfa MSA Fa Pa 12 SSA 12 dfa MSA Fa Pa
Fb SSB dfb MSB Fb Pb Fb SSB dfb MSB Fb Pb
SSAB dfab MSAB Fab Pab SSE dfe MSE
SSE dfe MSE
X2 SSA 23
X3 SSA 31
Source SS df MS F test
12 SSA 12 1 MSA 12  F_ 12 *
2 3 SSA 23 1 MSA_23 F 23 *
31 SSA 31 1 MSA 31 F. 31 *
SSE dfe MSE

F(0.017)=XXX
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(3><3 ) 4

( ) (X )
Source DF Typell SS Mean Square  F Value Pr>F
X1 1 3.642 3.642 0.96 0.3386
F B 2 1526.298 763.149 201.98 <.0001

SS df MS F P

3.642 1 3.642 1.499 ns

7.621 1 7.621 3.138 ns

25.714 1 25.714 10.586 *

34.000 14 2.429

F(0.017;1,14)=7.331
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